MOJOTONE BRITISH 45 WIRING DIAGRAM

INPUTS

STANDBY INDICATOR

? 9P Y9

LR?
A
N—— =
BASS MIDDLI
1M Log 25K Lin

28 232

{ 250pF X
VOLUME BRIt \ VOLUME NO| MA \

1M Log 1M Log

N

RS

PRESENCE
5K Log

\’
N

7021300
OUTPUT TRANSFORMER

MOJO777
3H CHOKE

32/42uF

MOUNT TO INNER WALL

#8 GROUND TAB

GZ34

o . — . oy — r’S
[
HARDWARE:
» 16 QTY 4-40 X 1/4" SCREWS FOR NOVAL TUBE SOCKETS AND TURRET BOARD
l 9 QTY 4-40 X 3/8" SCREWS FOR OCTAL TUBE SOCKETS, HT FUSE HOLDER, AND POWER JACK
. 5 QTY 4-40 X 1/2" STANDOFFS FOR TURRET BOARD
15 QTY 4-40 KEPS NUTS
. 4 QTY 6-32 X 1/2" SCREWS FOR CAPACITOR CLAMPS
a 4 QTY 6-32 KEPS NUTS
N

6 QTY 8-32 X 1/4" SCREWS FOR CHOKE AND TRANSFORMERS

10 QTY 8-32 KEPS NUTS °
4 QTY M6 X 1 1/4" SCREWS FOR CHASSIS mnﬂn BRITISH 45
REVISION 10

L N =  2/29/2024

o

3A FUSE AC MAINS INLET OUTPUT SELECTOR SPEAKERS



